
Item

Bill Of Material

Version

Date 20.05.2010

84550

Jotron AS

RA-7203C Maritim VHF Receiver Production

Item Name / Description Makes no. / Additional name Sub pos.

84501 VDL   Rev.D 001RX Front Module

82410 VDL 002RX Power Module

84549 003RX Main Module  RA-7203C

93666 SCHROFF   30809-674 004HF-casette, 3U 14HP 227mm

95582 DIN 966A  A4-70 005Screw M2,5x8  raised countersunk head

97994 Din965 A2  OBS! sorteloks.et.varemot. 006Screw 2.5x6mm

98245 M3x6 DIN 7985MRX-SR-A4-POZ 007SCREW M3x6 PANH.

82471 008Knob encoder  Rev.B

81824 009Ribbon Cable RA 7202

81728 Tecknit   27-723 010Conductive soft gasket,  4.8mm X 3.3mm

81728 Tecknit   27-723 011Conductive soft gasket,  4.8mm X 3.3mm

95568 Schroff.no 21100-591 012Clip for cross-slotted screw 7000-Front

95569 Schroff.no 21100 749 013Cross-slotted screw to 7000-Front

VOIP V1VoIP

DSC V2DSC modem

INBAND V3Indband


